FHEHN NO.11

[F a7 5RO FER]
KK oITa7IKLBEZONTVWSET 5, G=Gal(L/K) DE7EE H 1Zx LT,

F(H)={z € L;gx=x(Vg € H)}(= L")
YEHRT D, L ¥ K OFEIK M kLT,
(M) ={g € G;g.x = x(Vz € M) }(= Gal(L/M))
YEFRT D, ZORE RO Z MDD, (HIEEDME)
(1) G DEEDERTEE Hy, Hy 12X LT,
H, C Hy = F(H,) D F(H>).
(2) L/K OEEDOHREIR M, My 12X LT,
M, C My = G(M;) D G(M,).
(3) G DIEEDERDHE H 12720 LT,
S(F(H)) > H.
(4) L/K OEEOHRMA M 20 LT,
F(S(M)) > M.
Fid. LD (1)-(4) 6. BLIERANLEHETROZ LD DT b5,
(73 \=1[=]")
(1) G DEREDERTRE H I/ LT,
F(S(F(H))) = F(H).
(2) L/K OEZEOHEIAR M I2H LT,
G(F(5(M))) = 5(M).
a7 HEETIE, EHIRDIZ e NhDb, (PRFEHEFARDMN)
(1) G DIEREDERTRE Hy, Hy IZH LT,
H, C Hy,F(H,) = F(H,) = H, = H,

(i 10212k %, )
(2) L/K OEZOHREUA My, My 120 LT,

M, C M3, G(M,) = §(My) = M, = M.
(Fa7oFERTLs, )
Db, RERIIRDIENTH1D,
(772 IE]:O lE]w)
(1) G DEEDERD#E H 1T/ L T,
S(F(H))
(2) L/K OEZEOHREIA M 2K LT,
F(G(M)) =M.

H.



